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If the above mentioned space ship is denoted by (S1) in the system, parameters of speed and
distance shall also be denoted in the system that is (Sz):
(Vxll Vyl; VZl; Xll yl; Zl)

Problem: space ship (S:) is moving to support and assist space ship (S1).
(sz. Vyz. V2. Xo. ya. Zz)

Compare the speed equations of the 2 space ship with each other so that space ship (51) meets
space ship (S) at a specified time.

Solution: Vs, will suffice to be larger than Vrs1. That is Vrsz > Vrsi.

Problem:

In the above problem, space ships (S1) and (S;) were compared. Here, some space ships are
compared so that some space ships (Sz), (S3), (S4), ...(Sn) will simultaneously meet space ship
(S1) will move first, followed by (S2), (S3), ... (Sn), respectively.

V1s1<Vr1s2<Vrs3<Vrsa ... <Vrsn

Vi1 <Vo<Vi3<Vis .... <Vxn

Vy1<Vypo<Vy3<Vyy ... <Vyy

Vi<V<Via<Vy ... <V
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